

Elevate the state of your restrooms with **plush**, **folded towels**

Folded Towel Syster	ns		ıdard ⋑ <i>⊗</i>	Plus ��⊗	Premi ⊘ ⊘	
Scottfold™	Scott® Scottfold™ Folded Towel Dispenser • 2-ply dispensing for reduced product tabbing • Interfolded sheets and multiple towel size options			Scott® Pro Scottfold™ Towels	Kleenex® Folded	Towels 120 Best seeds
Slimfold™	Scott® Pro Slimfold™ Towel Dispenser Fits in small spaces Ideal for healthcare, small business and breakroom settings Unique 5-fold folded design One of the most compact systems on the market			Scott® Pro Slimfold™ Towels		
Multi-Fold	Universal Folded Towel Dispenser One-at-a-time dispensing No upside-down loading Most popular folded towel option Wall or counter dispensing options	Scott® 100% Recycled Fiber Multi-Fold Towels	Scott® Multi-Fold Towels	Scott® Multi-Fold Towels	Kleenex® Multi-Fold Towels	Kleenex Reveal™ Multi-Fold Hand Towels
C-Fold	Universal Folded Towel Dispenser Traditional folded towel design Large format folded towel Ideal for dispenser-free hand towel presentation			Scott® C-Fold Towels 200 201 201 201 201 201 201 201 201 20	Kleer C-Fold	Towels State
Singlefold				Scott® Single-Fold Towels		

Universal Folded Towels

Pop-Up™ Box Folded Towels

Code	Description	EPA	FSC	ECOLOGO	Color	Ply	Size (WxL)	Qty/Unit	Units/Case	Oty/Case	Fits Dispensers
11268	Kleenex® Ultra Soft Pop-Up™ Towels				White	1	9.0" x 10.5"	70 sts.	18 bxs.	1,260 sts.	09924
01701	Kleenex® Pop-Up™ Hand Towels	0	0	Ø	White	1	9.0" x 10.25"	120 sts.	18 bxs.	2,160 sts.	09924

Scottfold™ Folded Towels

Code	Description	EPA	FSC	ECOLOGO	Color	Ply	Size (WxL)	Qty/Unit	Units/Case	Qty/Case	Fits Dispensers
13253	Kleenex® Premiere Folded Towels	0	0	Ø	White	1	7.8" x 12.4"	120 sts.	25 pks.	3,000 sts.	09214, 09215, 09216, 39640, 39711, 39712, 51904
13254	Kleenex® Premiere Folded Towels	0	0	Ø	White	1	9.1" x 12.4"	120 sts.	25 pks.	3,000 sts.	09217, 09905, 09906, 39710
01960	Scott® Pro Scottfold™ Towels	Ø	0	Ø	White	1	7.8" x 12.4"	175 sts.	25 pks.	4,375 sts.	09214, 09215, 09216, 39640, 39711, 39712, 51904
01980	Scott® Pro Scottfold™ Towels	Ø	Ø	Ø	White	1	9.4" x 12.4"	175 sts.	25 pks.	4,375 sts.	09217, 09905, 09906, 39710
45957	Scott® Low Wet Strength Scottfold™ Towels		0		White	1	9.4" x 12.4"	175 sts.	25 pks.	4,375 sts.	09217, 09905, 09906, 39710

Slimfold™ Folded Towels

Code	Description	EPA	FSC	ECOLOGO	Color	Ply	Size (WxL)	Qty/Unit	Units/Case	Oty/Case	Fits Dispensers
04442	Scott® Pro Slimfold™ Towels	0	0	0	White	1	7.5" x 11.6"	90 sts.	24 pks.	2,160 sts.	34830

Kleenex Reveal™ Hand Towels are preferred 2:1 over other leading systems.²³

The Slimfold™ System is the most versatile and efficient folded towel system on the market, with the greatest capacity per square inch.²⁴



²³ Kleenex Hand Towel Pattern Chooser User Research, July 2017.

²⁴ As compared to leading competitive folding towel systems.

CCOLOGO Certified for reduced environmental impact

FSC® Certified

Meets EPA guidelines for minimum post-consumer waste content: towels 40%, bathroom tissue 20%, facial tissue 10%

[✓] NSF® Registered

Universal Folded Towels

Multi-Fold Towels

Code	Description	EPA	FSC	ECOLOGO	Color	Ply	Size (WxL)	Qty/Unit	Units/Case	Oty/Case	Fits Dispensers
46321	Kleenex Reveal™ Multi-Fold Hand Towels		Ø		White	2	7.5" x 9.4"	150 sts.	16 pks.	2,400 sts.	09214, 09215, 09216, 39640, 39711, 39712, 51904
01890	Kleenex® Multi-Fold Towels	Ø	0	Ø	White	1	9.2" x 9.4"	150 sts.	16 pks.	2,400 sts.	09217, 09905, 09906, 39710
02046	Kleenex® Multi-Fold Towels (Convenience Case)	Ø	0	Ø	White	1	9.2" x 9.4"	150 sts.	8 pks.	1,200 sts.	09217, 09905, 09906, 39710
37490	Scott® Multi-Fold Towels	Ø	0	Ø	White	1	8.0" x 9.4"	250 sts.	16 pks.	4,000 sts.	09217, 09905, 09906, 39710
01804	Scott® Multi-Fold Towels	Ø	0	Ø	White	1	9.2" x 9.4"	250 sts.	16 pks.	4,000 sts.	09217, 09905, 09906, 39710
03650	Scott® Multi-Fold Towels	Ø	0	Ø	White	1	9.2" x 9.4"	250 sts.	12 pks.	3,000 sts.	09217, 09905, 09906, 39710
01807	Scott® 100% Recycled Fiber Multi-Fold Towels	Ø	0	Ø	White	1	9.2" x 9.4"	250 sts.	16 pks.	4,000 sts.	09217, 09905, 09906, 39710
01840	Scott® Multi-Fold Towels	Ø	0	Ø	White	1	9.2" x 9.4"	250 sts.	16 pks.	4,000 sts.	09217, 09905, 09906, 39710
01880	Scott® Low Wet Strength Multi-Fold Towels	Ø	0	Ø	White	1	7.0" x 9.4"	255 sts.	16 pks.	4,080 sts.	09217, 09905, 09906, 39710

C-Fold Towels

Code	Description	EPA	FSC	ECOLOGO	Color	Ply	Size (WxL)	Qty/Unit	Units/Case	Qty/Case	Fits Dispensers
01500	Kleenex® C-Fold Towels	Ø	0	Ø	White	1	10.125" x 13.15"	150 sts.	16 pks.	2,400 sts.	09217, 09905, 09906, 39710
01510	Scott® C-Fold Towels	0	0	Ø	White	1	10.125" x 13.15"	200 sts.	12 pks.	2,400 sts.	09217, 09905, 09906, 39710
03623	Scott® C-Fold Towels	0	0	Ø	White	1	10.125" x 13.15"	200 sts.	9 pks.	1,800 sts.	09217, 09905, 09906, 39710
06041	Scott® Low Wet Strength C-Fold Towels				White	1	10.1" x 13.15"	200 sts.	12 pks.	2,400 sts.	09217, 09905, 09906, 39710

Singlefold Towels

Code	Description	EPA	FSC	ECOLOGO	Color	Ply	Size (WxL)	Qty/Unit	Units/Case	Ωty/Case
01700	Scott® Single-Fold Towels	0	0	Ø	White	1	9.3" x 10.25"	250 sts.	16 pks.	4,000 sts.

✓ NSF® Registered

ECOLOGO Certified for reduced environmental impact

FSC® Certified

Meets EPA guidelines for minimum post-consumer waste content: towels 40%, bathroom tissue 20%, facial tissue 10%

Kleenex® Folded Towel Dispensers

		\circ	Description	Dimensions (WxHxD)	ADA Compliant [™]	Lifetime Warranty [†]	Qty/Case
	09924		Kleenex® Box Towel Dispenser	10.4" x 6.1" x 5.4"		V	2
	51904		Kleenex Reveal™ Countertop Dispenser Fits 7.8" and 8.0" towels	13.3" x 9.0" x 5.2"		V	1
Agendic		39640	Kleenex® Premiere Folded Towel Dispenser Fits 7.8" and 8.0" towels	10.6" x 18.79" x 5.48"	V	V	1

Scott® Folded Towel Dispensers

		0	•	Description	Dimensions (WxHxD)	ADA Compliant ^{††}	Lifetime Warranty [†]	Oty/Case
	39712		39711	Scott® Scottfold™ Folded Towel Dispenser Fits 7.8" towel	10.6" x 18.79" x 5.48"	V	V	1
	09216	09214	09215	Scott® Scottfold™ Folded Towel Dispenser Fits 7.8" towel	10.75" x 9.0" x 4.75"	V	V	1
54		34830		Scott® Slimfold™ Towel Dispenser	9.83" x 13.67" x 2.88"	V	V	1



Replace your current folded towels with Scott® or Kleenex® branded solutions for 60 days. If you see a cost increase, we will reimburse you the difference between the cost of your product and the cost of our product up to \$1,000.



Kimberly-Clark Professional Universal Folded Towel Dispensers

	0	•	Description	Dimensions (WxHxD)	ADA Compliant ¹⁸	Lifetime Warranty [†]	Qty/Case
39710	09906	09905	Universal Folded Towel Dispenser Fits minimum 7.8" towels	13.31" x 18.85" x 5.85"	V		1
	09217		Universal Compact Towel Dispenser Fits 9.4" towels	10.75" x 9.0" x 4.75"	V		1

Low Wet Strength Folded Towels

If plumbing issues are a concern, choose these low wet strength towels for your restroom. The transportation industry (airlines, railcar and cruise lines) trusts these towel options when flush risk is a top concern.

Code	Description	EPA	FSC	ECOLOGO	Color	Ply	Size (WxL)	Qty/Unit	Units/Case	Oty/Case	Fits Dispensers
45957	Scott® Low Wet Strength Scottfold™ Towels		0		White	1	9.4" x 12.4"	175 sts.	25 pks.	4,375 sts.	09217, 09905, 09906, 39710
01880	Scott® Low Wet Strength Multi-Fold Towels	0	0	Ø	White	1	7.0" x 9.4"	255 sts.	16 pks.	4,080 sts.	09217, 09905, 09906, 39710
06041	Scott® Low Wet Strength C-Fold Towels				White	1	10.1" x 13.15"	200 sts.	12 pks.	2,400 sts.	09217, 09905, 09906, 39710

Small Business Collection

Take advantage of big organizational possibilities with the Scott® Small Business Collection from Kimberly-Clark Professional. With convenient case sizes, products are easy to store, easy to access and easy to pair with universal dispensers. Mix and match Scott® brand paper towel and bathroom tissue options to customize the right bundle for your business.

	Code	Description	EPA	FSC	ECOLOGO	Color	Ply	Size (WxL)	Qty/Unit	Units/Case	Oty/Case	Fits Dispensers
	03650	Scott® Multi-Fold Towels	0	0	Ø	White	1	9.2" x 9.4"	250 sts.	12 pks.	3,000 sts.	09217, 09905, 09906, 39710
	03623	Scott® C-Fold Towels	0	0	Ø	White	1	10.125" x 13.15"	200 sts.	9 pks.	1,800 sts.	09217, 09905, 09906, 39710
<u> </u>	13607	Scott® Standard Roll Bathroom Tissue	0	0	Ø	White	2	4.1" x 4.0"	550 sts.	20 rolls	11,000 sts.	09021
	03148	Scott® Jumbo Roll Tissue	0	9	Ø	White	2	3.55" x 1,000'	1,000 sts.	4 rolls	4,000 sts.	09507, 09508, 09551

- COLOGO Certified for reduced environmental impact
- Meets EPA guidelines for minimum post-consumer waste